Honors Geometry Homework for Section 3.1

1.
E C
R T
AERC =
Why is RC = RC?
2.
R S
T E P

E is the midpoint of TP

ASPE =

ABOW =

Why is .1 = .2?
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Honors Geometry

Homework for Section 3.1

4,
a. Draw the

reflection of
APQR over the
x-axis and give
the coordinates
of the new
vertices.

Q (-2,6)

b. Draw the

reflection of
APQR over the
y-axis and give
the coordinates
of the new
vertices.

Q (-2,6)
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Honors Geometry Homework for Section 3.1

c. Slide APQR 3 &
units to the left
and give the 1
poordinates of Q (-2,6)
its new
vertices.
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